E European B.T.Ch. SENIORS ( 15/33)

FRANCE VS POLAND
FRANCE | POLAND | POLAND | FRANCE
N|GRENTHE | E |JEZIOROIN [Russyan |E| Stoppa
S [VANHOUTTE [W [KLUKOWSKIRS | Lasocki |W| Stretz

BoardfContract | by |M|D| N-S|E-WJContract| by |M|{D| N-S|E-W} IMPs
1 §3NT [N |4| (430 3NT [ S |5| |460 1
2 §3NT [N |4| [630 49 |S 1 100§ 12

3 |3NT |N|3| [400 3NT | S (3| |400 - | -
4 §3NT | S |3| |600 3NT | S |3| |600 - | -
5 |3NT (S |4| [630 3NT | S (4| |630 - | -
6] 44 (W|4 620] 44 (W |4 620 - | -
7169 |[E|7 1460 49 |E |6 680 13
8] 24 |E 1| 50 INT |S| |2 100} 4

9] 5% (W| [1[100 40 | S 1 50 4
I0J2NT | S |3| |150 INT | S |4| |180 1
11J3NTX| S 1 100§ 3NT | S 1 50 2
12) 44 [N| |1 100} 24 [N |2| (110 5
13] 44 |(W| [1]100 46 (W |4 620] 12
14J49X | N 4| |590 20 |W|3 11012
I559X|W| (2300 5¢ |N| |1 100§ 9
16 3NT [E |5 660} 3NT | E |3 600 2

53|24

IMPs FRANCE POLAND
This segment 53 24

Penalty o) o)
Carryover 0] 0]

Total 53 24
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= 3NT by N, making 4, NS 430
= 3NT by S, making 5, NS 460

(N-S)FRANCE (E-W)POLAND
(W)KLUKOWSKI (NYGRENTHE (E)JEZIORO (S)VANHOUTTE

W N E S A3O 5aANd

PP le dokeln:
P T
P BN P P 2323870k
P

= 3NT by N, making 4, NS 430

(N-S)FRANCE (E-W)POLAND
(W)Stretz (N)Russyan (E)Stoppa (S)Lasocki

Vo E L sRRes
PP 1% 53440205

P la P 2&

P 39 P 3N

P P P
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= 3NT by N, making 4, NS 630
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= 49 by S, down 1, NS -100
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= 3NT by N, making 3, NS 400
= 3NT by S, making 3, NS 400
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(N-S)FRANCE (E-W)POLAND
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= 3NT by N, making 3, NS 400 = 3NT by S, making 3, NS 400
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= 3NT by S, making 3, NS 600
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= 3NT by S, making 3, NS 600
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= 3NT by S, making 4, NS 630
= 3NT by S, making 4, NS 630

(N-S)FRANCE (E-W)POLAND
(W)KLUKOWSKI (NYGRENTHE (E)JEZIORO (S)VANHOUTTE

(N-S)FRANCE (E-W)POLAND
(W)Stretz (N)Russyan (E)Stoppa (S)Lasocki

WoN B sl W N oE s sssesel
o b b SGR42] b oov b b 00eareA
PoSN PP a5ooazap o SN PP RS
P A2HOQMKS4 | P $ 30 80 % Q
Q305090 T
P I TR 3@ K
CA
= 3NT by S, making 4, NS 630 = 3NT by S, making 4, NS 630
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2529432 5 = 44 by W, making 4,EW 620
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= 44 by W, making 4.EW 620
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= 44 by W, making 4, EW 620
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6p by E, making 7,EW 1460
49 by E, making 6,EW 680
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= 69 by E, making 7,EW 1460
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24 by E, down 1,EW -50
INT by S, down 2, NS -100
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= 24 by E, down 1,EW -50
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= INT by S, down 2, NS -100

757




E European B.T.Ch. SENIORS ( 15/33 ) FRANCE vs POLAND

9 K2 g

_{BCND 6EHA43 6
QY875 8
*65 3

c Jo 210765

082 9% KQ<27

O A2 K J

S AKJ10932 Q87
cAQ843 9
A J10 S
01064 3 e
*4 10

FRANCE 4 20

POLAND 14
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= 2NT by S, making 3, NS 150
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= INT by S, making 4, NS 180
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